Subject: Bug in IDL or, may be in my head ?
Posted by franciscoaiglesias on Fri, 23 May 2014 08:01:30 GMT

View Forum Message <> Reply to Message

Hi all,

Any clue what's going on here ?

a = randomn(seed, 248, 256, 9972) * 100. + 4.e3
print, total(a) ; gives 1.42030e+12

print, total(a, /double) ;gives 2.5324144e+12
print, total(total(total(a, 1),1));gives 2.53250e+12

Thanks !

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=8030
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=36426&goto=88645#msg_88645
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=88645
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

